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Quiz Date: 7th March 2020 

Directions (1-5): In each of the following questions below, four sentences are given which may 
contain grammatical or contextual errors. You have to choose the one which contains any error. If 
there is no error in all the four sentences, mark (e) i.e, “All are correct” as your answer.   
 
Q1.  
(a) The response rate to RTI requests have also slowed down.  
(b) The JSP, therefore, can advance the objective of transparency. 
(c) The RTI Act had dealt with the citizen’s right to know about public information. 
(d) There is no need for anyone to take recourse to the RTI Act and await a response.  
(e) All are correct 
 
Q2.  
(a)  If we show an awareness of our own political leanings, it makes us more trustworthy 
(b)  Journalism must retain its ability on scrutinize the state rather than becoming a cheerleader. 
(c) The government has been relying almost entirely on providing fiscal relief in the form of tax 
cuts.  
(d) To incorporate the unorganized sector, data from alternative sources need to be used.  
(e) All are correct  
 
Q3.  
(a)  The implicit assumption is that the organized sector can be a proxy for the unorganized 
sector. 
(b) While RTI filings have increased exponentially, RTI-activism has become part and parcel of 
civil society.  
(c) Higher judiciary must do its duty as guardians of the citizens’ constitutional rights’. 
(d)  Only certain specific projects or initiatives are undertaken in ‘mission mode’. 
(e) All are correct  
 
Q4.  
(a)  The train has provided a trouble-free performance in the last six months.  
(b) The unraveling had commenced even before Train 18’s inaugural run as Vande Bharat 
Express.  
(c) It is futile to expect the techno-bureaucracy of the Indian Railways to reform itself.  
(d) The Centre made amendment in proviso to Article 370(3) as a part off a well-conceived 
strategy.  
(e) All are correct  
 
Q5.  
(a) During the global financial crisis, it was said that the experts were behind the curve.  
(b) The deal as negotiated was one-sided, partial and highly flawed.  
(c) More fundamentally, the agreement was also widely criticized in the U.S. and elsewhere.  
(d) Concerns about misuse of government apparatus should be addressed.  
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(e) All are correct 
 

 
Directions (6-10): Rearrange the following six sentences (A), (B), (C), (D), (E) ,(F) and (G) in the 
proper sequence to form a meaningful paragraph and then answer the questions given below. 
 
(A)Few if any ills that afflict India today are not laid at his door.  
(B)But there is more to his legacy than this alone. 
(C)To his credit as much as to other founders, India is a vibrant and live electoral democracy.  
(D)Debate and dialogue are more than welcome.  
(E)We live in an avowedly post Nehru age.  
 
Q6. Which of the following should be the first sentence after rearrangement? 
(a) B 
(b) D 
(c) A 
(d) E 
(e) C 
 
Q7. Which of the following should be the third sentence after rearrangement? 
(a) B 
(b) D 
(c) A 
(d) E 
(e) C 
 
Q8. Which of the following should be the fourth sentence after rearrangement? 
(a) B 
(b) D 
(c) A 
(d) E 
(e) C 
 
Q9. Which of the following should be the last sentence after rearrangement? 
(a) B 
(b) D 
(c) A 
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(d) E 
(e) C 
 
Q10. Which of the following should be the second sentence after rearrangement? 
(a) B 
(b) D 
(c) A 
(d) E 
(e) C 
 
 
 

 
 

 
Directions (11-15): Given below the sentences each of which has been divided into four parts. Each 
of the questions is then followed by the five options which give the sequence of the rearranged 
parts. You must choose the option which gives the correct sequence of the parts. If the sentence is 
already arranged in the correct sequence or the correct sequence doesn't match with any of the 
given sequence, mark option (e).i.e. "None of the above" as your answer. 
 

Q11. any team anywhere in the world (A)/Men in Blue who are capable of beating (B)/ fearsome 
unit of battle-hardened (C)/ our cricket captain has built a (D)/  
(a) ADCB 
(b) DCBA 
(c) ABDC 
(d) DABC 
(e) None of the above 
 
Q12. India, despite its high population (A)/ managed to contain the spread of the virus (B)/ 
abysmal hygiene standards, has (C)/ density, lax surveillance systems, and (D) 
(a) ADCB 
(b) DCBA 
(c) ABDC 
(d) DABC 
(e) None of the above 
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Q13. Mahatma Gandhi was clear that the (A)/purpose of India’s freedom was not just (B)/ also to 
look after the most vulnerable (C)/ for us to determine our own destiny, but (D) 
(a) ADCB 
(b) DCBA 
(c) ABDC 
(d) DABC 
(e) None of the above 
 
Q14. that has helped us survive and (A)/thrive physically and emotionally since (B)/the dawn of 
mankind—friendship(C)/ my concerns have to do with a trait (D) 
(a) ADCB 
(b) DCBA 
(c) ABDC 
(d) DABC 
(e) None of the above 
 
Q15. for all the avowals of peace that (A)/ outbreak of violence never happens again (B)/ these 
are enough to ensure that such an (C)/ we make, it would be naive to think (D) 
(a) ADCB 
(b) DCBA 
(c) ABDC 
(d) DABC 
(e) None of the above 

 
 
 
 

 
Solutions 

S1. Ans. (a) 
Sol. Statement (a) has error in it. ‘has’ will be used instead of ‘have because ‘rate’ is in singular 
form.  
 
S2. Ans. (b) 
Sol. Statement (b) has an error of preposition here. Instead of ‘on’, ‘to’ will be used.  
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S3. Ans. (c) 
Sol. Here, in statement (c), there is an incorrect usage of apostrophe ‘s’ in “rights”.  
 
S4. Ans. (d) 
Sol. Here, ‘off’ will be replaced by ‘of’ because ‘off ‘ is making the sentence contextually 
meaningless and grammatically incorrect.  
S5. Ans. (e) 
Sol. Here, all the four statements are grammatically correct and contextually meaningful. 
 
S6. Ans. (d) 
Sol. The correct sequence is EADCB.  
(E)We live in an avowedly post Nehru age.  
(A)Few if any ills that afflict India today are not laid at his door.  
(D)Debate and dialogue are more than welcome.  
(C)To his credit as much as to other founders, India is a vibrant and live electoral democracy.  
(B)But there is more to his legacy than this alone. 
Hence, option (d) is the right answer choice.  
 
S7. Ans. (b) 
Sol. The correct sequence is EADCB.  
(E)We live in an avowedly post Nehru age.  
(A)Few if any ills that afflict India today are not laid at his door.  
(D)Debate and dialogue are more than welcome.  
(C)To his credit as much as to other founders, India is a vibrant and live electoral democracy.  
(B)But there is more to his legacy than this alone. 
Hence, option (b) is the right answer choice.  
 
S8. Ans. (e)  
Sol. The correct sequence is EADCB.  
(E)We live in an avowedly post Nehru age.  
(A)Few if any ills that afflict India today are not laid at his door.  
(D)Debate and dialogue are more than welcome.  
(C)To his credit as much as to other founders, India is a vibrant and live electoral democracy.  
(B)But there is more to his legacy than this alone. 
Hence, option (e) is the right answer choice.  
 
S9. Ans. (a) 
Sol. The correct sequence is EADCB.  
(E)We live in an avowedly post Nehru age.  
(A)Few if any ills that afflict India today are not laid at his door.  
(D)Debate and dialogue are more than welcome.  
(C)To his credit as much as to other founders, India is a vibrant and live electoral democracy.  
(B)But there is more to his legacy than this alone. 
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Hence, option (a) is the right answer choice.  
 
S10. Ans. (c)  
Sol. The correct sequence is EADCB.  
(E)We live in an avowedly post Nehru age.  
(A)Few if any ills that afflict India today are not laid at his door.  
(D)Debate and dialogue are more than welcome.  
(C)To his credit as much as to other founders, India is a vibrant and live electoral democracy.  
(B)But there is more to his legacy than this alone. 
Hence, option (c) is the right answer choice.  
 
S11. Ans. (b) 
Sol. The correct sequence is DCBA. The sentence after rearrangement is, “Our cricket captain has 
built a fearsome unit of battle-hardened Men in Blue who are capable of beating any team 
anywhere in the world.” Hence, option (b) is the right answer choice.  
 
S12. Ans. (a) 
Sol. The correct sequence is ADCB. The sentence after rearrangement is, “India, despite its high 
population density, lax surveillance systems, and abysmal hygiene standards, has managed to 
contain the spread of the virus.” Hence, option (a) is the right answer choice.  
 
S13. Ans. (c)  
Sol. The correct sequence is ABDC. The sentence after rearrangement is, “Mahatma Gandhi was 
clear that the purpose of India’s freedom was not just for us to determine our own destiny, but 
also to look after the most vulnerable.” Hence, option (c) is the right answer choice.    
 
S14. Ans. (d) 
Sol. The correct sequence is DABC. The sentence after rearrangement is, “My concerns have to 
do with a trait that has helped us survive and thrive physically and emotionally since the dawn of 
mankind—friendship.” Hence, option (d) is the right answer choice.  
 
S15. Ans. (a) 
Sol. The correct sequence is ADCB. The sentence after rearrangement is, “For all the avowals of 
peace that we make, it would be naive to think these are enough to ensure that such an outbreak 
of violence never happens again.” Hence, option (a) is the right answer choice.  
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